Michaël’s cosy programmers’ corner.

What’s this? A new topic? Yes it is! Like I told before I noticed that most of the upcoming programs get cancelled or take a long time to get finished. I don’t blame people for that. Programming calculators is not the only thing in the world. But with this topic I want people to urge to program their calculators. I will explain how do certain things in HP-Basic and in Sys-RPL. E.g.: this month I will explain how to do a fast getkey in Sys-RPL. I recommend though that you have read my sys-rpl tutorials (which BTW are recently updated). The link is: http://www.hpcalc.org/hp39/docs/sysrpllessons.zip. 
Things will be little bit less detailed explained as in my Sys-RPL lessons. But someone with a little bit perseverance should be OK!

Anyway Let’s start:

Make an aplet with the name ‘Getkey’ and the same file name in WSR 1.1b. In the editing window, scroll down till the beginning of the program and delete the usual lines. First make two variables called XPix and YPix. Store BINT10 in each of them. Clear the screen and set a pixel with XPix and YPix as coordinates. Now we are going to make a loop. Why? You might ask. A good question! Because GETTOUCH unlike WaitForKey doesn’t wait till a key is pressed. WaitForKey? Yes, that is a slower getkey in Sys-RPL, but till now we only used it only for a ‘pause’ in our program. So let’s make a loop: first write BEGIN. And under that write UNTIL. Under BEGIN we are going to say to the compiler when there is no key pressed that he has to put ZERO on the stack. Why we have to do that? Because every key has a certain number. Look in Head.39 for those keys and their numbers.

 E.g.: DEFINE kcSoftKey3 THREE. If there is already number on the stack and it the same as one of the number of the key you want to check for then you get a weird situation. So under BEGIN write GETTOUCH NOT IT ZERO. Your code should like this:


Let’s say we want to quite the program when the key DEL is pushed. In head.39 we see that DEL is equal to kcDel. Above UNTIL we write kcDel REPKEY?. The REPKEY? says that when the key is pushed it has to repeat the code. Nothing prevents you from using BINT21 instead of kcDel (because kcDel is defined in head.39 as BINT21)  Now let’s move the Pixel with the Right Arrow. the code for the Right Arrow is indeed kcRightArrow. So when kcRightArrow is pushed we have to set the pixel off, update the coordinates, and turn the pixel back on. Write under GETTOUCH NOT IT ZERO kcRightArrow REPKEY? . Beneath that do an IF THEN test. Your code should be like this:


Now turn the pixel of, add one to the variable XPix and set the pixel back on. Here is the final code:


Now compile the code and see that pixel move! If anyone wants to see an other way for a fast getkey (code written by Andri Winati) can always mail me at the normal address (ndco232@tiscalinet.be). Also if have you any suggestions, ideas for the next issue of the monthly newsletter than you may mail me too.










 BEGIN





  GETTOUCH NOT IT ZERO





  kcRightArrow REPKEY?


  IT 


   ::


    XPix@ YPix@ PIXOFF


    XPix@ #1+ XPix!


    XPix@ YPix@ PIXON


   ;





  kcDel REPKEY?


 UNTIL


 Entry





 BEGIN





  GETTOUCH NOT IT ZERO





  kcRightArrow REPKEY?


  IT 


   ::





   ;





  kcDel REPKEY?


 UNTIL








 HARDBUFF ZEROZERO BINT_131d SIXTYFOUR GROB!ZERODRP





 BINT10 DUP XPix! YPix!


 XPix@ YPix@ PIXON





 BEGIN





  GETTOUCH NOT IT ZERO





 UNTIL
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